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rugztt:q];‘ih?::‘u‘ﬂ‘ ™ the glven option ; l (A) 1y v ]_erl-l 11' o e imﬂrtmw ¢
Rending is an cssentinl skall that stidents (0 1y o HNCU T r Ve Y
need to develop in ondet to be syecesstil i their (' UG frr g8 :
academic and prafessional lives Tt is impontant U CCng pe e MRAsY;,
to remember that reading s pot ust about (1 v kinn Wing
dovnding  wonds on A page,  but abouwt \ UHTH I r
understanding the meamng behind those words SRR I ny Picty
Reading comprebension s the  ability 4 l Lo What 4y e
understand, analyze, and interpret what you reg ‘ (AY Read, anf
There are several strategies that studenge UG pgre | eeen. Pamg”
can ure | to o improve heir reging | M) Shggers Tl gy
comprehension. (e of the mogy Mportang MUden; Should i foy
strategies s o preview the text before read; l M epgy o ol Oy d
ll.dn'lls rnlcnmnza looking :tn the title hc-ullh::sl \ ) Previes I'[' \d tamiliay ‘En‘&
and any pictures or graphic atrdll ' h N “Ming g
W]iat lhct_lex'l is abogt. | DS-L:ST q'im“lgg‘;i“ﬂ tlli i[?lil]{;”:”” \[ra|[Zg1't.EK; IS pog
ask questions as vou read. Thic or. 15 1o WIng comarar Y, for
clarity any confusion ymP mng.u 0 h‘flP You to D) Maki g :_rr?p”‘he.nsmn. "'ﬂpmﬂ;
stay f'-ac_used on the main ideas of ;13“: and to text an NeCtiong betw .
It's also import the ext, not our gwp een e
I ant to noy ¢ CXPerion, 8
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Whether YoU're reaPrehension yskillgave e ©) typicaln (B) Ordinary
work, e time itng for pleasure or fn’ 195, Soc ®) CXception|
YOur reading ¢q O Practice ang joor J00 ¢ rates w; .
188, Acens mprehension skills, ' Prove ] FAIIOSOPhem ———— Wisest of Gy
rea%?;dmg o e passage, iy | (C% N ®) a
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(A-] abl ; )1} 196‘ Wlu ) N0 artiele
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(A) Only " reaq IQ e;}.f’é““f (©) beawtiful (D) eca
C %klp_uvcr any pictures or graphics s tlﬂc} ittt md{ b
B) P helek e rarns | ot pnae s ] 2L
amiliar texts that are casy and SPWCE- 3 Y 0 Tpocia

Rend the paseage glven below and answer the m

190, ngyr 15 it important to make connections ‘
Ciween the text ang your own ‘
eXpenences or knowledge 7 |

l
l
1
1

To confuse yourself

(B) 'ggdrf;n:;;}w{t‘he gpfffonnaugn bettar
. ningdy e T
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(A) programme
(C) prospect

(B) prosody
(D) protagonist

+ Which of the following is an example of

A possessive pronoun

(A) iy
(O s

. H. |.~t|l.'|\"

(N L!'.\ill.'. I.; J
(Cy st he

By her
(D} all of these

" Tut question 132
) ¥

(V) won'the .

(1 needn't he?

4



171

173.

174.

175.

176.

177.

178.

‘So... that' and *Such....

shrases which express

A) Adverb clause of noun

(B) Adverb clause of verb

{C) Adverb clouse of manner

(D) Adverb clause of result

Which 1s the correct active senlence of

the following passive scnience 7

1 was taken 1o the public library by my

sister before 1 was able 10 read.

(A) Before I was able to read, 1 was taken
to the public library by my sister.

(B) Before 1 was abled to read, my
sister took me to the public library.

(C) Before I was able to read, my sister
took me to the public library.

(D) 1was taken unhg&uhhc library before
I knew how to read, by my sister.

Give one word for : Irrational fear of crowds

(A) Sitophobia %g Ochlophobia |

(C) Astrophobia Claustrophobia

Choose the correct

: the
following sentence : _
Either the manager or the associates

the merchandise.

(A) orders

B) order
E is suppose 10 order
AlAn

are supposed 10 orders
is a word of exclamatory,
expressing a sudden feeling or excitement.
%&'ﬁ verb tB} adverb
C) interjection D) noun

“The sun smiled down on us.”

The above is an example of

A) lrony
B} Metaphor

Ahat* are the

verb for

C) Personification
D) Both (Metaphor) and
(Personification)
Choose the correct meaning of the
idiom or phrase given :
To make clean breast of
A) To gain prominence
B} To praise oneself
C) To confess without of reserve
To destroy before it blooms
Choose the one which best expresses the
iven sentence in Indirect speech :
Eia.nna askedeahq?q, “Have you sat in &
Fﬂ' o b:.-ﬁ:ﬂ Rohan had he satin a
lier.
) mﬁ:dﬂ Rl.'ﬂ'h.ﬂn had he sat in &
trolley bus before.
(C) Manna asked Rohan if he sat on a
trolley bus before, _
(D) Manna asked Rohan if he has ever
sat in a trolley bus.

|
|
|
|
27

179.

1RO,

181.

182,

183.

184,

185,

186.

187.

I:"h‘ 1h‘_ i

Fol ey

CXpression

Strike while 11, 1% het

5.-"-.% TN ‘"'"f[ﬂ'w;:t:r

C) mota) D) book

Choose the most appropriate articles for

the piven sentence:

_ heavy rainfall last weck was

disaster 10 crops that were already i

Jdismal state.

{AT ™o article required, an, no article

required

(1) noarticle required, a, the
(C) The,a,a
(1)) The, no article required, the
Which of the following best expresses
the same sentence in Passive YVoice :
Do vou understand what | mean ?
(A) What I mean 15 that
vou 7
(B) \‘u"us? what [ mean understood by
ou
C) Is what I mean understood 7
ED} ‘I.i.-'ha._} I mean is undm]:ynu}?u by
you
Which of the following options has the
correct order of words to form an
interrogative sentence ?
(A) Qﬂvdi!;mn /was he/ not to do/ such a
(B) Was he/ not to do/ a villain/ such a
deed 7 X
(C) ll::dm:?s ! a villain/ such a deed/ not
o do
(D) Was he/ not a villain /to do/ such a
ee
No souvner had she read the tel
t " she fainted. N oy
Z en an
(C) therefore fB} there
What  is the meaning of the word
‘vernacular language' 7
(A) formal language
(13) intormal language
(C) forcign language

(D) native language

Use suitable prefix to make the opposit
ut'mcgivenﬂtgnrd: iy ne

C;fmgntcd )
EC} i::u {E} :ﬂs
Which one

of the following is an
E.i“;"‘ﬁ;'ﬁ of “Collective noun" E

B
C) chgmliﬂn {D} ﬁﬁi
Which wo i
iﬁ'—““‘{f“” ?rd is an :nmnym for
stin charitabl
C; Iunﬂcmcd f?ﬁ hen:vnl:-f-:t
MKP
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Section-D / ¥I-4
English /

_ Which sentence contains an infinitive 7

A) She gave him the book,

B)Y They made dinner for themselves.
C) To sing is her passion.

D) He saw the car accident.

Fill in the blank using appropriate forms

" of the verbs out of the given options :

Not only yvou but your friend also
1o be blamed.
[B% are
(D) have N

(A) 18
(C) has : o
Which sentence contains an appositive ¢
A) The caris blue. . e
lLB‘l My friend. a doctor, is coming to visit.
C) She runs every day.

}‘D'] The movie was emotional as well as
thrilling. _ o )
Which sentence contains an indirect object ?

A) She bought a very nice book.

&B'& They showed him the way.

C)) He played football. ]

b The flowers bloomed beaunfu][i.(.
Fim’fii out synonym for the underlined
word :

Petrarch cultivated his fame and was the
first genuine Titerary celebrity.

}A; eveloped EB; sequence

C) despair D) demonstrated
Which sentence contains a transitive

verb 7

A) The bird flew away.

E %ﬂ: sil_nl: lglsa-um]:llj,f.l:l_ e vl
e children played in the .

(D) He ate the piz%a.}'r P

Which sentence contains a co-ordinating

conjunction ? )

(A) The sun was shining brightly in the
sky since there were no clouds.

(B) She had a headache, but she
continued to teach her students,

(C) After she had finished her work, she
went for a walk.

rDD; He is tall, dark, and handsome,

epartment for mili
?“;Lljpg?d.js A litary stores and
inance B) O
(C) Ordination (D) Ordence

Which s : o
c]ause'? entence contlains an ﬂd‘lccnvc

(A) The girl who won the race was very

appy.
(B) He rode his bike 1o {
(C) 8 very near to his hoﬂgc.smrc that
(DJ %‘l}a sang & song for the class,

WJ' ¢ ale pizza and watched g Movie
hlt}lf::ﬁ]gnu: contains a gerund 9
EE Sh;;sjrlg;dligztmgnb%}a.l © Moming,
Played lennis afi
D) Thebird sang a bcautiFalsggr?g.l'

|
|
|
|
|
i
|
|
|
|
|
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161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

amazing

*“War and Peace” is a book by Tolste,
A) write (B) "Written :
C) wrote (D) writing

Which sentence 1s an active sentence 7
A) The cake was baked by my mother
B) The car was driven by’ my brother
C) She sang a song for the class.

D) The movie was watched &

everyone in the theatre. -

Which sentence is an imperative sentence
A; | think we should Ez?:ﬁo the b::ac%{-t
B f’lease turn off the lights when vou

gave. ’

C) He is reading a book about history
ED% They Pla}ffdgbaskelball in the gy?:.
Put the correct word from the options :

I have been waiting here the last

t\;.;o hours, s

since or

fC}_ in . ((D} over

Which sentence is a declarative sentence ?
A) Can you pass the salt, please ?

What is your favorite colour ?

C) The sun 1s shining today.

D) Wow! That was an

performance!

Identify the complex sentence in the

following options.

A) The dog barked and the cat ran away.

She went to the store after she
finished her homework.

(C) He is a great athlete who also excels

;llghacadﬁmicg. for i
ey played soccer for hours

®) menyhgd 2}; picnic.

Which sentence is in the interrogative form ?
A) The movie was very entertaining.

B) She went to the store and bought

some milk. _

C) What time is the meeting ?

{D; He ran three miles this I'I'IOITIIHS.q
ich sentence is a simple sentence .
‘Khl The dog barked and the cat ran away.
BY The sun is shining and the birds are
ing.

(©) ?":.\g*allgcﬁlkm the store and bought

ome milk.

(D) séhe loves 1o read books and

magazines.

Which sentence has a subject-verb
- or "

( mﬁg [I;:}f:;lrnd the girl is wallun%jm school.

B

‘ers in the garden are blooming.
C ;ril;el:y::wu sisters and one brother.
D

She sings and dances on the stage.
She : my request for travelling
mTt A e }Bi turn off

d down
(&) tarmon D) turm out
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142

143.

14,

145,

Rajasthan became the firg state in India

0 surpass GW of cumulative

large-scale solar installations,

TETH A 77 ;

P %3 8 s s
GW 1 TR & form 3 |

(A) 13 (B) 10

(C) 20 (D) 23

Sports For All (SFA) sporting services
Joned as the powered-by sponsor of
which event ? '
(A) Women U-19 World Cup
(B) Khelo India Youth Games
(C) FIH Women's Hockey
(D) Khelo India University Games

qIE B AT (SFA) Tifén widaw frg
T TS - T 3 &9 3 el g 2
(A) T 3T -19 Ted Ty
(B) e 3 gu v
(C) THITETE THA BTeh
(D) @ﬁg&muﬁaﬁmﬁm

VAYAM RAKSHAMAH (We Protect)
is the motto of which armed force ?

(A) Indian Coast Guard

(B) Indian Navy

(C) Indian Air Force

(D) Indian Army

Tq9 a%m (8H _g&n F 2) form vy 79
) G LE -4 }

(A) W T T (B) WA T
(C) W@ ag &A1 (D) WA &

Under which scheme of Rajasthan
Government, 12 sanitary napkins arc
being provided free of cosl every r;lfr;tl;
to women and adolescent girls for bette

. "
health management of women :

(A) Udaan (B) lfh“k;;

C) Pankh (D) 128
e R 6 e a &
et g e Sa E
Afzenani afw faeiE_ F ?"Tﬁ? .
mwwwﬁmmﬂi-

(A) I (B) T

146.

147.

148,

149,

E:}-“-hid.' of the following cities, Ayush
Ministry n:'memI Scientific Convention
on Warld | nmeopathy Day ?
(A) Jaipur (B) New Delhi
gtllglfmp;!‘l_ . (17) Shimla
A 1/ fRm v A AT A

1 AR foam w ﬁ-‘n A
It fa 2
(A) T (B) 73 famsht
(C) W= (D) fore

Which of the ﬁlllc}wingpuirmns in Karnataka
was naugurated by Prime Mmister Shri
Narendra Modi on 27" February ?

(A) Mysuru Airport

(B) Kempegowda Airport
(C) Mangalore Airport
(D) Shivamogga Airport
27 WRE{l H guEEE o T g
FAtew 1 Prafafea § 8 fm sz

Which country is known as a tax haven,
has introduced ‘Federal Corporate Tax’
for the first time ?

(A) Finland (B) Mauritius
g:% UAE D) Switzerland
<N =i 399 %94 & €9 H ST 90 B,

e uaeft am BEw s =
wefe fear 2

(A) Trets (B) RIS
(C) 9y 3= anfita(D) feagateis

Which city is the host of *5" ASEAN-

India Business Summit' in 2023 ?

(A) New Delhi (B) Kuala Lumpur

(C) Dhaka (D) Singapore City
|l I 2023 A 53 ~¥T@

T A -wees 1 e & 2

(A) 7% feeeht (B) HIHTETET

(C) e (D) E

TLMAL is a joint venture between India’s

TataGro which country's counterpart ?

(A) usip (B) lsrael

(C) France (1) Japan

TLMAL W@ & 2re1 o 3t farg 3w &

w4l & o O wye Iam R i

(A) guen B) T P

(C) w1y (D) =R 3
MKPp
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132. Whnt :5 the impact of climate change on

\.

133, Acid rain comodes the marble of the

i

\

I34 Which of the following is not a heritage

\

135, What is the State Dance

\

ncrras.:\d biodiversily

Increased productivity
Increased carbon sequestration

hmwadmldﬁman pest
-q-q mmmwtﬂ%?

|

(B}:ﬁma:m

i Fhiadk o amﬁaamqﬁqa;

monument. The phenomenon is also
ullad

} gzw‘m % Marblecvolunﬂn
Marble cancer e warp
ety a9 = F aTmon aﬁ S ESIEG
WA ITenw_ fiwmem e
(A) s gfy (B) gmvon e
(C) HTmR (D) SR st

site as per UNESCO list ?
(A) Keoladeo National Park
(B) Jaipur city
\ (C) The lantar Mantar

) Bikaner Fort

LR

AN O Tovsa we i 3
(A) Faere TPy vam
(B) JagUII®
(C) ST
(D) =& 1 fareny

‘"Bﬁﬁﬂfﬁ%

(A) M of Rajasthan 7

(B) Thewa

% None {:-fth:m:

o e e (fere *ﬁﬂltl

(©) we (B)
©) WA |

MKp |
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137.

138.

139.

140.

141.

Which of the following rivers drains into
Bay of Bengal ?

(A) r?dh?ggar (B) Luni

(C) Mahi (D) Chambal
Prefeafas § @ 27 f 7 9w wrg

Hficdi g 2
(A) T (B) wTft
(C) TTE (D) Taw

In which district of Rajasthan, Kalibangan,
a pre-historic site, is located ?

(A) Bikaner (B) Jaipur

(C) Jaisalmer (D) Hanumangarh
el HTelTE T &

Pt femd o

(A) T (B) AR

(C) ST (D) TS

What is the tagline of Rajasthan Tourism ?
(A) Land of gods

(B) God’s Own Country

(C) The Incredible State of India

(D) Full of Surprises

USTET T4 ) ATeTgd 1 8 2

(A) TIE 1T® MgH

(B) M@ 3 H]

(C) T F5Fsae e 1w 33

(D) Fel T TF

Who was defeated by Rana Sanga in the
battle of Khatoli ?

(A) Ibrahim Lodi  (B) Akbar
(C) Sikandar Lodi (D) Babur

watell & g2 8 uon wim A f s a2
(A) Tfen gt (B) 3rhe
(C) faFguend (D) &=

The Tejaji fair is held every year at which
of the following places in Rajasthan ?

(A) Bhiwadi (B)Y Udaipur

(C) Beawar (D)) Parbatsar
ATl e & T U § faffaa d
A firg T at s e S o

(A) hard (B) I
(C) =T (D) TETH
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122,

123.

124.

125.

126.

127.

Yammi  Knshnamur
accomplished exponent of
(A) Kathak (13) Bharatnatyam

15 i1l

(C) Odisi (D} None of these
) FUF pabd, &
(A (B) e #1
(C) afefid (D) g @ A |

is famously known as Flying Sikh.
{A) Maninder Singh(B) Yuvraj Singh
(C) Sandecp Singh (D) Milkha Singh

F A ¥ ¥ w fiE & T

amm%; e
(A) FHEfE (B) ]
;Fh} wafes (D) %E'—E fie

o first Indian Scientist to win a Nobel
Prize was

‘A) Amartva Sen
C.V. Raman
5 Hargobind Khorana

Y

Subrahmam:%{:hqndmsck ar
et R ST Tt gt el
C) EMEg D) G0 TG
Mo 15 called as Sl;a&:cspcarc of India 7
A) Mahakavi Kalidas
iE' Mother Teresa
D) Bharathiyar

fra TR TR
(A) TETfa Ficed (B)
(C) el T (D) ¥ ,
Which of the following is the primary
(A) Control anthropogenic SOUCCS of

¢enhouse gases

B) R N
C} Regulate the production ol nuclear
encrg .
gauliqn of Global warming,
7 &M

(A) e #1 (B) @91 ™
Rabindranath Tagore
WTTA
itz &
e
aicnda of the Kyoto Protogol .
egulation of hazardous wasles
!D} Regu
HH

ﬁmﬂfmﬁﬁzrﬁﬂ 1|
D) Teivad g ]
hich are the main pillars of “Namam |
(ff" Fe\ftfr‘f;'ﬁﬁ IT"ruutmclnt In I'rulslrui:hnc I

PN, Jevelopmen
g{ River=Front [ ‘{"IL:-.:IE]ing |
D . ]

Rix‘:r*&iur_ful't‘

wﬂ}%‘.f ey g M A AR
(A) Wl FTER U

(B) frar-we faFmd
(C) fra - R WIS
(D) a@f

124,

I 29‘

130.

“’Il-'ll L] F’Illll'u.ll f onservatinn Y

CAY I as ahown conservatinn and wise
tive ol wetlnds o

() 1 is ahnnt comservation of forests

(C) It i abowt conservation of mineral

resnurces,
(D) None of these
AT Hearm 5 2 7
(A) 1 woyfa & s s ey

IFEMFATER |
(B) aeadi HummE a2 |
(C) 77 wfya dan & dom R a d
(D) & @ F1d TH
Which of the following Acts, deals with
the rights of the communities that dwell
in forest over land and other resources
A) Indian Forest Act, 1927
B) Forest Rights Act (FRA), 2006
C) Indian Forest Amendment Act, 2019
D) None of these

i 7 i ) A, o 5T

=7 FENE T A H T 9 #9109 T
Ffuwnl & gafud 8 2
(A) wrefta g wfufaam, 1927
(B) & iftran #UfFR(FRA), 2006
(C) ¥elia & wws Hfrs, 2019
(D) ¥4 # FI§ 7
Which of the following
convention Lo protect ozone layer ?
A) Basel Convention
(B) Bonn Convention
(C) Vienna Convention

(D) None of these

N T @ @ & e Fr=fafa 1§
WM EEAE ?

(A) 45e TEEH  (B) I §E

() fgmadtes (D) 8 8 H8 T

1s the

. Which of these gases is not permitted to

be released beyond certain limits by the
Prevention and Control of Pallution Act
by the Government !

(A) Sulphur dioxide (B) Carbon dioide
[["]‘ Nitrogen  (I9) None of these
gl 1 fne M o T G0 95N

i fam wfufan g RBfEd d@im @
e 1 e ) sl 761 R 7

(A) HERL2I331T1$8

(1) @1 SIgHTRIGS

(C) g

(D) 9 Qs 78l

MKP
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111, What is the most important characleristic
of the islands (Indian) located in the
Arabinn Sea ? i
A} They are all very small in size.

E;} They are all of coral origin.
C
(

} They have a very dry climate,
Ihn_'memmi'E of'the mainland,
¥ g o R ﬁqt (vmea) 6 wew
q

H‘Eﬁ'{d TR

(A) deft srend ggaBR § )

(B) ;?“rmw 14 .

(C) H I

(D) I ﬁgmg!

In the heart of the [ntertropical

Convergence Zone in the northwest, the

di? el ot winds knc:ﬁmhaf k . )
Sliﬂ

{C Nor Westers % e ]

Jri=

Nt Westers Blossom Wind

1L

8 F 7w 4,y oo e w)
-_'%Fﬁmmﬁ‘%h:
A7 (B) 7w
(C) Mmawd (D) =atFm fig
13 India is the world's largest producer of
(A) Groundnwt ~ (B) Wheat
%m“ Ué{rapu'sesmﬁ
# )
IARFE | o
(A) Yrset (B) 7
(C) == (D) Tt
114,

In which of the following states

Tumallapalle, where h Serves b}

E"'*MIM are found, is s#ﬁtcﬁems F
( Kerala

C) Tamil Nadu {Eg Andhra Pradesh

%ﬁ;ﬂaﬁ, el 9 % femet e qo

et b T fRmd

115, Which of the £,

wise the I llowing stae has area-

Besl forest cover i the

country as per S| 2
(A ;?‘dh;: Pﬂdcslezl?
(B) Cujaral

C) Kamataky
(1)) Andhra Prageg),
FSI 2021 % 3pqwm

U ﬁmmmﬁm

CelER X
(B) T

| form
2 w
(A) 797 e

(D) 31y iy

LR
"Ey

(C) #fes
MKPp

nh-___

|
|
I
|
|
|
|
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116.

117,

118.

119,

121

The Ahom (ribes migrated from
Sti Lanka }Il] Afghanistan

C) Myanmar [}) Iran
ESENGL 7
(A) e (B) JwmHT
(C) T (D) §m
Which of the following was the firg

[ndian woman who went into space 7
A) Shirisha Bandla (B) Smﬁtap‘f"-’illjams

(B) gt fafera
(D) Fvr1 9mEen

Who of the following never became an
ﬁctiq& President 7
A} V.V, Gin

C E:[}.Jaﬁt:i ﬂq{g ﬁgﬁfhm
o -
(A) g, (B) ¥

© #@ZLw=ht (D) Eq-f@?grgqm

Who of the following ladies is popularly
known as “Grand Old Lady" of the
independence movement 7

A) Sarojini Naidu

Sucheta Kripalani

: 3 4 e ieen | owdm
mﬂ?ﬁ"ﬂzaﬂaﬁzﬁ"%mﬁm
FTAME?
(A) wifsfi g (B) g=m
(C) mmm{mqﬁiﬁ?ﬁm
Which person is called “Bird Man of India™ ?
A} Salim Ali

Hi Ir, Rahendra Prasad
C
o

Dr. Srikrishna Singh
Salman Khan

A F TEE A TR
(A) wefm et (B) . Wz TR
(C) =1 (D) BHR EA
Amjad Ali Khan is associated with
which of the following musical
instruments 7
A) Guitar B) Veena
}C% Sitar D Sa%:id
TG I GH ¥ fam am
ﬁﬁfmfﬁ‘ﬂ?? .

(A) TR (B)
(C) famm (D) ®irg
o



101.

103.

104,

105,

106,

. The Brahmanas are books that deal with

Section=0 / qr-¥1
General Awareness [/ ITTHT- ATTERA)

Which of the following presents the
maost slgmﬁcam feature of the Indus
Valley civilization 7

(A) Burnt brick buildings

(B) First true arches

(C) Buwldings of worship
D) _Art and architecture,

tL‘tq—l'ﬂ-rs—ﬂq figm 9 € =15 97 5y uidt a9 |

e weA e 2 7

(A) e ¢ §2 1 I

(B) TES SrAiEE HEUA

(C) T &
(D) F=7 T aregHel

(A) the Bhakt theory (B) ritualism
(D) meditation

(C) yoga .
TR T § T A GELR N
(A) sfefagmd  (B) FHFIEH
(C) €M 3 (D) S A

The paintings of Ajanta depict stories of the
{A) Ramayana (B) Mahabharata
(C) Jawzkas (D) Panchatantra
AT 19 FeEr = e A e ?
(A) TEET (B) HETHTE

(C) Fa= (D) =44 ‘
Freedom fighter Shri Surajmal Basaniya
belonged to |

.{ B) Banswara

§A1 Bikaner
C) Jaisalmer (D) Jodhpur _ |
TAA S 3 e ST =
(A) =T (B) =r==TST

(C) =T

(D) =TT
The Ashoka pillar at Allahabad provides
information about the reign of
(A) Chandragupta Maurya
(B) Chandragupta |
(C) Samudragupta

BRI (D) =777 fzm
The mighty gateways found at the
temples of & uuﬁ‘l India are called
(A} Shikhars }li] (iopurams
{C) Minaras (D) None of these
qW wus & Hfz A WM AT At

(C)

wimreh wawgn wEard &
(A) fora (B) TIH |
(C) HAW (D) 378 A &1

|

!

i

|

s - I
(B) ¥z7H T4H iF
J

|

{

i

I

|

i

107,

108.

Which ol the [ollowing milcr Enawn as
“Ablnnay Bhartachorya™ 7

iAYy Rann Prata

(13) Ruana Humﬁh;l

(C) Hem Chandra Vikramadityn

%DI Maharaga Surmg Mal )
Teferfera @ a fea g w cpfeea
WTTATAT ™ o ST | AT A7 7

(A TTI TATY

(B) Trm =

(C) o=z fammfz=a

(D) TEATA grASA

The *August Offer’ of 1940 sougnt
conciliate the Congress by guarante=ing
the setting up of a repressniatye

r
i

(A) the. g
Indian body to frame 2z new
constitution.

(B) government's assurance to protect
ﬁ-ne political rights of minonitizs.

(C) }hﬁt- there would be no partitian of
ndia.

(D) that separate electorates would not be

provided for the depressed classes.

1940 F /TS T F 1 IS

T T W A A 2 = 5 |

(A) 7% FE1 AfguT TR = e 7=

(B) W=TasaFi = TTERAAR Fewel 5
727 & =0 FrEw = FeEa

(C) | =1 FE Fara= T T

(D) == =1 & fom w=m === =27

The northermmost limit of India 1s

(A) 3673 N lanrude (B) 37°8 N [annuce
(C) 37°6'Nlantude (D; 36712 N lamde
A = Iwa T S P

fA)Y 36% 4" N FEFTT

fB) 37° 8~ =57

(Cp 376 XN FHaT

(D) 36% 12" N H&mT

World's Longest Highway Tunne| above

10008 Feer located on which national

highway 7

fA) »H3 iB) NH =

(C) ~H 12 Dy MH | =

10,004 2 @ wo fgrg £ s FW

g 7 fam rrfe a0

(A) TiFg Al 3 (B TFT TIET &

(C) g rrammt 12 (D) e TFTT IR
MEKP

jarhesl



95  The word communication is derved from

latin word ‘commumis’ means
(A) To make common

(B) To share

(C) To exchange

(D) To know

%ﬂgiﬁgﬂﬁ? mﬁ'ﬁgﬁﬂ {mmlinunis) i}

(A) == R F fae
(B) &s1 & & fayw
(€) fafma wad & fimg
(D) T/ w3 % forw

How students can decode the message
sent by an audio programme ?

(A) Through visualization

(B) Through demonstration

(C) Through understanding

(D) Through interpretation

O T A3 TIH g I M W
TIERE S8 FUAFA £ 2

(A) TEETEEE & HEm §

(B) WeIiH = Hreqy |

(C) %% & Aream |

(D) ==& & AT |

Given below are the components of
communication process. Select the
appropriate sequence.

(A) sender, receiver, feedback, noise

(B) sender, receiver, medium, noise,
feedback

(C) sender, message, medium, recejver

(D) sender, message,
receiver, feedback, noise

wan ufFm F uw {9 feg

T &) 944 F1 | Wil:’qg-tﬁ
(A) 9, R, gfagfe, wn

(B) m UTHEA, Hm,afr{,gﬁgr!
(C) 59, H¥I, UMW, ATR|

(D) ﬁm? HET, WICAH, WTHE, Wi

medium,

MKP
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98.

100,

Communication  starts  with

conceptualization and
sender.
(A) development of an idea
(B) development of messape
(C) transmission of message
(D) receiving of message
HATATE T EEE A d o
AR | 7
(A) T & fowm . (B) w50 % firm
(C) SIS T (D) Hew ¥R F
communication carefully
plans the message and delivers i
effectively so as to invoke self-
communication among students.
(A) Intrapersonal (B) Verbal
(C) Non-verbal (D) Interpersonal
AT WA @ HER 5 4rE
T € STR TH W 3 § g 2 A
BTl & #9 WTH-HEN F1 HEEA

the

by the

HHF |
(A) TR (B) =fE=
(C) M-difigs (D) ¥aaates

Suppose you plan to teach a content
(concept) using an audio programme.
Then, you have to write the script
required for the audio programme. Se.
the content to be transacted in the
classroom is into scripl.

(A) Encoded

(B) Decoded o
(C) Both Encoded and Decoded E__J-.

7 ifs e 3y o Hifedn wEFd &

I H Th (araureen) )

T A d w @ | R, I

ifeah s 3 o, seas ff ferrd

#h | gafere, Fen § & A
fafat e |

(A) THIEE

(B) gRrse o

(D) T @ &1 T 0
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a. Responsible i,

Below given are the strong hasic for
leadership development. Match List - |
with List [T :
List-1 List-11

Possess a long term plan

Leaders for their school as well as
.. areer and personal life,
b. Focus 1. Take psychological
... ownerships for their actions,
¢c. Ideation i, Needs recognition that

d. Credibility

%Fﬁ*fﬁ‘ﬁllﬁ%?ﬁm:
=i-1

Loes with success.
constantly feeding (heir
minds with new ideas.

forera & forn o ammun

A feg e g
gEl-11

2R i wmw v amemm

I AT 3R afma e
. Tore e el e |
b. FzA ii. 375 w1 & for wedmys
EIC) =aad | .
€. IS il IEEH B e B £ oAy

d. e

o

B

TR & Y A & |
iv. AR T fmm = 9
faami &y @ |
A) a-ii,b-1,c-iv,d-jii
b-ii,c-1,d-iv,a-ii
C) c-ii.d-i,a-iv,b-iii
D) d-ii,a-i,b-iv,c—iii
Which of the followin _are the
characteristics of leadership in an
educational system ?

1. lead by example and inspiration.
ii.

guide personal programs, but rely
... on his decision. _
lii. produce cohesiveness  without
.~ Wwhich co-operation is impossible.
V. don’t resolve dilferences which arise in
wing organisation because prionty IS
'li:n growth of the orgamzation. b
V. contribule ml the tgr;‘rgri v
¥, 4 - ] ”) 5. -
aduénc‘éngﬁu;cﬁgt ;ﬁlg L&ﬁﬁ g
ﬁaﬁmﬁn? ol
L FETEC 3T 9O H A & -.
ii. =yfea wrdEE w1 WiRYE W,

Hﬁqﬂmmmmmm fooer fam wegm
IMER | oy i
V. &g gu EEA 1§ 3 B 9 e &

gﬁ%ﬁmmﬁaﬂ}wﬁ%% |

i,

V. Iqgmi M &l AT =gl Je H
AR 2 | .\ iie

{A i, iii, iva B) 1.1, v

C i, iiL, v {])J 1, 11, 1y

——— e e — .

93.

| 94.

|
I
I
|
I
|
|
|
|
I

1y

91.

91,

The communication of leader's vision,
makimg  his/her dreams apparent O
others and aligning people with them 1s

(A) Management of Attention

(B) Management of Meaning

(C} Management of Trust

(D) Management of Sell i y
AW qefiiar & HqEn, A A= o
T & AR W FET 3T A ITE
T Sz P _

(A) S TEMR (B) 314 %1 wEue
(C) Tavama =1 wav=(D) =4 =1 yaus

Which are the mosl essential factors in
leadership ?

EM follower, leader and situation

follower, _  situation and

~__ communication _

(C) leader, = Ssituation and
communication L

(D) leader, follower, sitvation and
communication

T HEY ATEVEF FE B HE 2
(A) 3ramd, @ 3 fgfy
(B) argar, fufy 3ik 9=
(C) =, feurfa aft d=m .
(D) =, s¥7awh, feafy aft gem

Evaluation that monitors the learning
rogress during teaching is
Summative Evaluation
Placement Evaluation
Formative Evaluation
) Diagnosis Evaluation

S R B T —y

AT Yy 21
(A) aﬁvnmmqgﬁria:r

(B) =iHYZ g

(C) Afam (formative) TR
(D) Yerfe qouiegs

According 1o Kohlberg a teacher can
Instill moral values in students by:
I;f_l}fjng clean rules ol behavioyr
Giving strict punishment
Discussing moral issues with the
J) Giving mportance o
.. leaching
Flerat & ax
a% Yoyl =)
HEATR |
(A) SUTER & Terwg
() i wan 4y |
€C) 39: 1 e 313 g g HT |
(D) wifder faygp &7 &R ) |

C

hem
religioys

» U fuEss iR 3
L IR LN E

Fras ampy |

MKp



B4.  Match the following : g6. In leadership, transforp,.

List -1 List =11 potential into reality.
(Parameters) ) _{Ih'scrlpllun} (A) analyst (B) catalyst
o Flexibility 1. "zh'hé,",;ff“ sl cloar C) educationalist (D) facilitator
e ions gs@,_q ATETAT AT &
Pml::melu?;ifnurn 5, I ARl
performance 'ﬂ'ﬁﬁﬁ?ﬂﬁ I _
b. Holding 2. Ability and willingness (A) fawems (B) Ia1H
people to adapt to the needs of (C) Frmmamht (D) g
accountable situations and change ;
tactics 87. Match the following :
¢ Managing 3. Ability to support List—1 List- 11
Pupils upils and to help them (Leadership Myth)  (Description)

become confident
independent learner

d Passionfor 4. 1|:gnll:-i!ih,-_' to prgvidc clear a. F"E"}'ﬁﬂe canbea i. Rarely
Lesrning irection and to _ eader.
Elnct:tnuse and motivate b. Leaders can deliver ii. Not
) results. necessarily
Prerferfaa i ghfera Hiie : I c. People who getto  iii. Not always
-1 =1 the top becomes
(AT9%E) o leader.
2 TEA 1 Yedd S A e e 3R d. Leaders are great  iv. Not True

: ﬁﬁz a;ﬁ\_i_gﬁm e coaches.

FEATEGE T B 3R wrhfi TeeH )

JET $i g st g=o E'ﬂ:‘ﬁﬁ—l % |
c. TR 3. fiiE 6 wemm w@ ot a. gﬁﬁﬂmﬂm i, TR A

e ﬁwmmfﬁmﬁmml b. T Ao THAE | i gf;ﬁﬂ
5 -4, vl LRl P S  REmed a i, WA

I maﬂﬁaﬂ(ﬁﬁﬁaﬂﬁ - TR E

(A) a-2,b-1,c-4,d-3 d. %ﬁ:mmﬁ% v, a@TEIRI

(B) b-1,c-3,d-2,2-4 L

(A) d-i,a-ii,b-iv,c-ii
Eg; a- i'. 0 :;: ab'.lj,hc'.ﬁ (B) b- Lo~ iif. d-iv. 2~ i

. § (C) a-iv, b -iii, c- ii, d-i
o e oFisserthipy C Uclscn the (D) c i, d - ii, a-iii, d — iv

A) influence, crucial, expectati . as
%Bi ;:ﬂ“"““"’mﬁ:”iﬂn; feiatl.l%]:;hips | 88. Use of ICT for quality education ¥
C mﬂumcc, rclﬂtmnshlps, vgjumary ' highlighled b}f

L (A) NCF-2005  (B) NCF-2009
(D) influence, voluntary effort, goal | C) NEP-1968 (D) NEP-2020 .

achievement i (C) % R0 ([CT]‘”F
qfcmﬁam?nﬂ:m ™ " | 394 T 2wy et a4 |
(A) W& ﬁvﬁﬂﬁ; Iafté I (A) TAEHITH (NCF) -2005
(B) wvTa, 3R, Wy (B) T (NCF) -2009
(©) TTE, TaY, FAReF WA | (C) TEdt (NEP)-1968
(D) T, 20 yam ARy | (D) wEdt (NEP)-2020

L] ] |
pIBE 18 ?



_ vanahons are trertant

consideration with reference o |

dependence -independence.

(A) Antitude (B) Apttude

(C) Age (D) Interest
o SRERINE ot I

fafavand semrgel famm &1

(A) TAgf (B) I

(C) ¥ (D) femaafi

How does a student get socially mature 7

(AY A student can become socially
manumed when he is exposed 1o a
few people with whom hefshe is
comtoniable and can develop his
thoughts accordingly.

(B) A student can become socially
matured when he is exposed to
those people who are socially
mature so that he can pattern his
behaviour accordingly.

(C) A student can become sociall

matured when he is exposed to self

and develop an understanding of
society on his own.

(D) None of these _ .

T BT3 STHI =9 & T i B E 2

(A) U SH HETH ¥ 4 G o ]
2 = 7 T U A O AT R

7 7md 97 |Ew @ # 3R aegER
w93 farl o) aemfe o Haa & |

(B) TF B3 AMIMA% #9 § T4 79 7
T=A 8 79 9% 34 AM % T
W & W FetE €9 @ i #
i, d7 TEE AN WA IR F
I F ATET G FF | n

(C) = wTa A =9 4 Jiqa 79
HeA] £ 7d 9% &4 & #9 4 A &
3N WA 79 T HHTA ] 60
FAE L

(D) A3 A FTE A

During the process of ________ students

learn 1o live up to the expectations of the

society in which they live.

(A) Social Adjustment

(B} Social Maturity

(C) Social Growth

(D) Social Justice

1 Wi & oA oA 39 wurd
TS W g 3| dvEn B e
(A) AT wHETAA
(B) gt wfvaaEm
(C) arfaes fara
(D) =mifas =™

helps student to know what is
desirable and expected from him
(A) Providing motivition
(1) Providing o strict & targeted
atmosphere
(C) Allowing students to do as per their
wish (Ilexible atmosphere)
(D) Providing appropriate role models
O™ F IR TR ° 522 F=A 7w
I T Hi A wafm R
[o""-] s“ M ﬂi—q[:i AT
(B) &7 3 =farm araman wers e
(C) BTl H1 I T201 F HAFH F74 E1

At g | (@faarse aEE)

(D) I9TF YTTHIA WEH FE |

Who intreduced *Play way’ method ?
(A) Caldwell Cook (B) Froehel

(C) Montessori (D) Blooms

fFem = ¥ (‘Play way') TZfA =1

IEHTA 1 7
(A) FEEaA FH  (B) Wi
(C) wiewd (D) =0

Which factor influences that students
studying in a secondary school
understand that society does not expect
him to regress to childhood behaviour at
this age 7

(A) Concept of dependence-independence
(B) Self-control

(C) Stress P
(D) Social maturity —
& W oFna ywifaa @ 2 ouw
wrafiens faeme o 92 aen o 18 uya
far wura 390 en w0 @9y & araen
ST #12 oh) 3adie ] st R 7

(A) b -mam &1 sy

(H) 3 -y

() wama

(D) "t uftyagan

MKP
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73

b 3

- T4,

Which of these is not a characteristic of
a profession 7
(A) A profession renders an essential
social service.
(B) A profession demands continuous
in-service training of its members.
C) A profession involves a code of ethics,
A profession does not demand
ssession of a body of specialized
owledge and extended practical

ing.
Wi %#I waar i v i & 7
(A) mam; TETEE IR §a1 UgH
SMEI
(B) =ed@_ I HeH
%amﬁﬁ;srﬁrm_ﬁnhm% I
(C) =qEHE H ATER I
(D) ==gm fEm 7@ 3k
wRmE & g % snitee
R i@ ) _
Which of the following is not
characteristic of a teaching profession ?
&?ﬂ Involvement of intellectual operation
Transforming raw material into a
tical and definite end
(C) Possessing _ educationally
communicable technique

) Lack of self-organization
I}-r)qfafaa 7 ¥ 39 o foigw saam 6
ferran 7t @ 2
(A) g darem # it 8 |
(B) ¥ U™ H UF HEENG 3N
fafvaa afa d wem |

(C) Wfgs &9 & g=nll aofts W@ |
(D) 3T&-d7T3 i1 FH] |
“Professional development of teachers is
not an event, rather it is a process,” This
OCEES IS 1n nature.

static B) continuous
rapid ED% slow

F1 FEANAF fawE ore|
ﬂﬂﬂ.ﬁﬁﬂi?m% " 7% whiFm
[,E) fer (B) fm
(C) aA (D) Hnft
an Educational institution
commitment to the well-being and
development of all pupils is essentially
demonstrated by a -
IE} &::fg gt;m:m D DriIrrI%It%aI
r

w s weE I mh il %
wea 3 e % Wi sfveem gfamd
A W(g-)‘fﬁh BAAR |
(A) FTEH LRl N
(C) wau3 (D) =

MKP
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75. Which statements from the beloy d

76.

not show commitment of 1.,
towards pupils and pupil learning
(A) Teachers treat all pupils inequ,;,
and with disrespect.
(B) Teachers treat all
and with respect.
Teachers treat all pupils with rI:SFL‘,.r
¥

C
ED Teachers treat all pupils equitah
:ﬁé U YAl {pﬁp EﬁI’—II T o
il sl faenfiai & atfrm 5 o1
e ) whmga =1 weiia e
(A) g ot faenfiat & Ty yeee
© FIH AN IR h WY AR o
(B) 3reamge i ferenfiiagi & wm qem =
H 3 G o HTY SGER HA # |
(C) ¥ vt & HY
FAYTTRRFAE |
(D) senvs Wi fRenffh & s =
EER H & |

Teacher’s commitment to Studenty
well-being and leaming is not throug:

pUpIIS quli'.;-_L,|.

positive influence
professional judgement
empathy in practice

matntammg strictness

= e wie foes 71
wieEgan FOAATATE & |
(A) TEHERHS ST
(B) 99 g

(C) argry 3 warfa

(D) |G & TG

What is STEM curriculum ? oy

(A) Science Technology Education ©
Mathematics N

(B) Science Teaching Evaluation
Mathematics ok

(C) Science Technology Engineerins
Mathematics

(D) Sociclogy Technology
Mathematics wnd?

TEdiun (STEM) IIGUFA |1 e | ..o o

cq FeeT Y 03

(A) |58 < ;
(B) =@ dfum e %ﬁﬂﬁﬂﬂﬂf{ﬁﬁ'ﬁ

(C) wrgd
femfesd e
(D) S e I
Femfead
(]

Education o~

d



64,

.

67.

W

Which are the two significant and crucial
ractors for an Interpersonal Relations ?
(A) honesty and trust
(B) trust and respect
C) honesty and judgement
(D) trust and rcsrect & honesty and
judgement both }
IHegieie 994l & ¢ T Hgeaqul i
St A S,
h-.w; S FRE G987
(A) TR 3 favars
(B) fyvaTe SR T
(O SHIGIU 3 g .
(D) fovem ¥R TF T R 3R

e

Rl

of the institution is a bridge to
maintain appropriate _ professional
relationships between staff members and

management.

[he i}

(A) Head (B) Supervisor

(C) Director (D), Co-ordinator
=W W FHAN AGHl
YEUT & §19 3r9d AGHIYS gay S
TSR |

(A) 338 ®)

(C) Fem= ) ST

D
‘The SDG-4 education 2023 framework
on education emphasizes the inclusion of
modalities for Ll'llje foundation of quality
education.’
What is meant by SDG-4 ?
(A; Social Development Goal
(B) Sustainable Development Goal
(C) Standard Development Goal
(D) System Development Goal 5
‘e m SDG-4 &y 2023 W @
T foven &1 A & ey dR-aden
1 A A WAL Gl € I’
SDG-4 &1 71 374 8 2
(A) T Saereste Tl
(B) FEE TAETHE TMeA
(C) Tes eaeme 1l
(D) fawen gaermie me
“It is the responsibility of the to
keep relationships with students focussed
on Pedagogical goals and academic

requirements”

Qi g
stuaents

“Refor @edi s T3]

W Higd O & a1y gadi &1 T @A

g 2 1
(A) T8 (B) @
©€) 3= (D) HETIH

|
|

|
|
|

|

|
l
I
|
I
|
I
I
|
|
|
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O8.

69.

70.

Which of the following are the signs of
fostering healthy interpersonal
rc1.mnn~.inpa )

(A) mutual  respect  and  shared

responsibility

(B) mutual commitment to goals

(C) no willingness to negotiate and
engage in dialogue
(D) mutual  respect  and  shared
responsibility & mutual
commitment to goals both
T § &F § W FAEag s

HEYl &1 GG 24 5 Hehel 2 7

(A) TR g A e e

(B) &gl % o wrea s wfagzgm

(C) "Ta=d 14 3R qaad 4 ad 84
N HE T2 | )

(D) WER TR 3R @ famerd T
wegt & fere urwi wiaagm o

The teacher is responsible for maintaining

(or acquiring) __ not only in areas of

personal interest but in all areas relevant

to course goals or objectives.

A) relations with others
Ci pedagogical knowledge

web}_l defined standards
subject competence -
2 et st o 8 & &%
ﬁm % et 1 Iy & fore Wi

&= o I ST W@ (AT WH
F) & fore Foigr 2 |
(A) & gy g9y
(B) Rk}
(C) 37=5t ot 4 yfonfya g
(D) forear g
‘A is based upon specialized
study and training; it provides skilled
service and Guidance for a definite
purpose to a limited section of the
population for a limited period of time
and can be practised independently or
within an institution.
(A) Profession

(D) Work

(C) Trainin A
Kt i-inic &T0T T

IMUTRG 3; g Wit sraf & fore SmETd)
% U Hifg arf & fore o Fifea R &
for spwrer dan st wmfedt wem v @

waa 9 4 91 fad gen & fiw
I frr s gwrar @ |
(A) (B) At
(C) witrgrm (D) wrd

(B) Job

MKP




§8. Which of the following scntence is
correct for ‘Teaching’ ?
(A) Camrying out  activities  for
completion of syllabus.
(B) Concerned with only growth of an
individual.
(C) Form of intrapersonal influence
aimed at changing the behaviour.
(D) Simulation, Guidance, Direction
and Enoouraﬂg;mcnl of Learning.
T A N %
f et ?

(A) mwwﬁ%mnﬁrﬁfﬁﬁw

(B) m@mﬁs%ﬁamﬁwfﬁa%l

(C) STTER F! 93e & Ievd § THIH
s 1 s, v, R o

D) ’ , TG
TeATEA

59. In psychology, awareness is a concept
sbout
(A) the state of knowing, perceiving
and being cognizant of events

(B) the state of knowing something
(C) State of being aware
(D) None of these

LT ﬂ; TRE TH

FEUR R |
(A)ﬂzmﬁa;‘taﬂi Waﬂtmﬂﬁ
Rafa

60. Teaching is not effective when

(A) students are actively involved

(B) it is well planned

(C) various situations are adapted with
different tcchmqucn

(D) communication is not effectively
reciprocatin

faregvr el T m
(Ajmaamm ﬁfﬁ!‘

61.

62.

N is the major source of upj,... allf,
relationships.

(A) Anxiety

(B) Depression

(C) Institutional chaos

(D) Institutional stress
IR HAHT 1 TG Fyg 3
(A) vaTge

(B) frrem

(C) HETTq IRTSTeha

(D) SETTd T

The nature and quality of interpersop,)
relationships greatly influence the
and of an institution.

(A) environment, working

(B) environment, development
(C) environment, ethos

(D) environment, life

TR TEE
b ek LR
(A) TaTEw, s

(B) TSR,

(C) aTaTa,
(D)Eﬂaﬁmsﬂa?

—_—

.5"

Which hlera:chy follows top- botiom

approach in an educational institution ©f

decision making ?

(A) Director, Principal, Manageme”
and Teacher .

(B) Principal, Teacher, Director "

Management i
(C) Management, Director, Princi™
and Teacher .
(D) Teacher, Principal, ~ Direc”

Management

fapelt o mmﬁﬁuﬁaaﬁ%ﬂ*’*

q’gﬂﬁq gfoor @ I
(A) PRI, wumTENeE, WA

AT d
(B) SUTTEI, AT, T 7

N ELE At
(C) varm, fwe, SuETET

AIh e
(D) AT, FUTATETIF, fgwe, @;



Section-B / WIM-H
Teacher Aptitude and Mlitml}r / Peges srfremya va aﬁqﬁ-r

Suppose a teacher asks students to submit a

home assignment. Students pmrurc the

assignment generally as written document
if to the teacher. Teacher

and submil 1o L
evaluates the assignments, wriles his/her
comments/suggestions in the assignments,

and retums back to the students. How
message is conveyed in this situation ?

(A) Non - Verbal Communication

(B) Verbal Communication

(C) Intrapersonal Communication

(D) Interpersonal Commupication

= S s & e o1 & 78 FH
0 3 fore e & | BT AR W frfea
T 5 w9 1 ST AR W § 3
Rreres ) 1 O | e T wH
T FW@ 8, W FE A

fouqe /g forean & iR SHEI A A
ST | 5u R i aen R s g 2
(A) Tr-riifew g (B) Hifaw TR
(C) R §9R (D) 3iaaditheh €K
52, Verbal  communication involves

conveying message through
communication. ‘
(A) personal appearance and oral
(B) oral and written

| E-R (C) written and facial expression

SL

(D) oral and eye contact
Hifgs gan |

Hew e e # |

(A) =afeTa ufRafy ik difes
(B) WifEs 3k faflaa

(C) forflaa st =gt ) arfireafte
(D) Wfgs 3R 33 g

technique is used to understand
nature and behaviour of students.

Q;) Personal appearance

C

Posture
Gesture
D) Eye contact
% & I9EM OEl & @IE
i srERR =) qwer) % forg e TR |

(A) =1t sefafa (B) T
(C) TE-YH (D) ¥ G0

Ha & W °

53

I54.

55.

During 1hc. process of communication,
__ barrier creates faulty expressions,

poor trﬂnslatirm, ambiguous words, and

Inappropriate vocabulary.

%j} {’hys:qall %B) Iigocit;l-t]:ulrural

C) Linguistic = (D) Psychological

TR I 9T * £l

ATl W, T ; g I
meaﬁﬂmﬁl

(A) Il (B) ATIE AT
(C) wTaI-wei (D) TS

‘Oxy%en is represented by O;.’

Which type of knowledge is it ?

A) Procedural knowledge

B) Metacognitive knowledge

C) Conceptual knowledge

D) Factual knowledge

«FTeReTer B! O g Aan e I
R TERF TAR?

(A) STsHaTCHe T

(B) TUHIHIcAS I

(C) GHTIATHH T

(D) TATHS T

Which type of communication helps
individuals and groups within an
organization to communicate for achieving
established organizational goals ?

A) Interpersonal Communication

B) Transpersonal Communication

C) Small group Communication

D) Organizational Communication

THR Al ga _TH A

ferat 3t Tygl H i SIS
T W T FE F U Fae FA o
HETIA] 8 2

(A) SRS €91 (B) TOATRS FGR
(9] Y A §9R (D) WISATHS §EL
Which of the following sentence is
Incorrect in context to learning ?
Leaming is Unitary.
B) Learning is individual and not social.
C) Learning modifies the behaviour of
Ew 1ndividtllal.
eamning helps to make choices in life.
v & Pefofe @ 2

Cack: ||
AN LU
THF R |
(B) wiem suftmrra &, wforn
(C)m@mmﬁﬁa?wmagﬁﬁ'wm

TR |
(D) Hrem it 3 g e A weg s d |
MKP




i i f paper is fo|
| - 49, In the question, a piece Ol r S Tl
45. Gamer Males who arc Non-Dancer and 4 cut a8 shown elow in the questio..

0 d by whic T : : -
Indian are represented Y hich numl figures. From the given opltion figures

NON l ,ﬁl'm (i Tl ?) 3t indicate how it will appear W 1en openeq,
et B, e EE1 &7 g M@ ? g &, HT % T g I AT

. — Gamer faam) w%,ﬁmﬁ;ﬁwmqﬁ'@m

1) .-—-—Dm\ccrq#a‘n W%IWWWWQ,Wﬁ

Male 759 . @ﬁaﬁmug%mﬁ:@ﬁ‘é’ﬂl

sjale

T n AN (5
(R gzall:

pemm—— P R R G
(A) 5 (B) 7 (A) (B)
(€) 10 (D) None/&i3 T8l
46. Choose the box that is similar to the box (@)
formed from the given sheet of paper V).

q S Ghﬁqmwﬁaﬂzﬂ 50. In the following question, statements are
iven and these statements are followed by

e TR | gl

) g conclusions. You have to take the given
statements to be true even if they seem to
o be at variance from commonly known
- facts. Read the conclusions and then decid:
L which of the given conclusions logicall
follows the given statements, disregarding

0 commonly known facts.
o Statements : All the bottles are boxes.
Some boxes are bags. Some bags are

(s) {b) (c) (d) suitcases.
. Conclusions :
(&) @ anziagb ),only I. ms:;w%igs are bottles.
(b) 1. Some suitcases are boxes.
(B) (c)and (d) only , Il Some bottles are bags.
© ® ((t):) H}(g) i IX %o:{ielbottles are ﬁmtg)as]es.I .
, (¢) an 0 n n

%Fad (b), (¢) mrg) _ iC} Onli I;I:ﬁ . '$2§:[l)gﬁlé0ﬁ %f tal:ﬂe:e'&’:
® o e e e T
At 3:30, the hour hand and the minute Tl =1 e ¢ e

hand of a clock form an angle of
3:30 &9, T8 F 0 g 3 e by Ryt X foq o P & @ 2 E
' %lpé n%mmﬁgq,%ﬂmﬂﬂ

?i 11 T R |
) 60° B) 75°
C) 90° ED% 100° CE

Find the missing number i '
series following ﬁw same paﬁeﬂf’ e

|

|

|
At sgen # a9 4 F gEm L. : s
T“m%‘|| IL, %g T E | e

|

|

|

1

. & aae B |
T FH FEH1 76 HIfT | g
15,17, 23, 35, 55, 85, (7) 11 AT
((3 ﬁo (B) 112 :X') I (%ﬁ)l Faall
S (D) 127 (C) et III (D) FHAFE T

2



38.

39.

40.

41.

42.

What day of the week was on February 14,
20127

(A) Sunday (B) Monday

(C) Tuesday (D) Wednesday

14 FEd, 2012 ) AT &1 1 @1 foa o 2
(A) TER (B) @WHER

(C) TR (D) gHaR

If in a certain code language HOPEFUL
is coded as KLSVIFO, then how is
CAPTAIN coded in that same code

language ?
f Rt Pfea g w1 §f HOPEFUL I
KLSVIFO % &9 & Rr@r siran &, & &t

e WTT § CAPTAIN Ht & Fewe foam
T 2

(A) FZSGZRO  (B) GEGSRDQ

(C) FZSGCLQ (D) FZSGDRQ

Find suitable answer in the place of
question mark.

TS 6 F T W ITGE IR e |
392:15::521: 7

(A) 7 B) 13

©) 17 (D) 21

Choose the box that is formed from the
given sheet of paper (X).

&7 e i ¥fie () & T aTeE B |

® 1 2 3 4
(A) 1and2 only (B) 2 and 3 only
(C) 3and4only (D) 1 and 4 only

(A) Faa@ 132 (B) Faear2 33
(C) Fa@3 3fia (D) Fae 1 34

Initially clock showed 1:30 PM, what

.will the time be after 1,44,356 minutes ?

,ﬁ@Tﬁﬁﬂiﬁﬁl:3opmaﬁ@a,

44,356 e % &g T wwa 8 7
(A) 7:15 PM (B) 7:26 PM
(C) 7:30 PM (D) 8:00 PM

43.

. reufy dfs & g BR

*}““F"h Lila, Mchul, Nikunj, Om,
I_rr_y:mk and Queen are sitting on a
l::IrCIllilr dining table for a dinner. Queen
iIs not between Priyank and Mehul. Om
1s neighbour of Kunjan and Nikunj. Lila
i1s sccond to the left of Queen. Priyank is
to the immediate right of Kunjan. Who
I1s sitting to the immediate right of Lila ?
(A) Mehul (B) Priyank

(C) Kunjan (D) Queen

= @ % e w Meen sk =

RS | T, frar 3 gt < e 7

%Iaﬂﬂfaﬂtﬁ@wq@m% | et
M

FH 5 w2 | s, 9%
$i gl 2 | <hen 36 i g P AT 22
(A) TgE ®) frrs

(©) M (D) FH

A certain number of students are
standing in a straight line, and all of
them are facing north. Arundhati is 19"
from the right end of the line, and
Arvind is at the 15" position from the
left end of the line. Both, Arundhati and
Arvind interchange their positions, after
which Kirti who was 24" from the left
end is now at the 5% position to the left
of Arvind’s new position. How many
students are there in the line in total ?
(A) 45
(B) 47
(C) 49 -
(D) cannot be determined.
oE # T fiftea gen ww @ e J
Tl 8, ﬁwmﬁm§ ITH IR |
199 &M W B,
3R arefiig ufe & o oR A 153 WA W
? | arpufy otk amfig 2F1 3 3R wH
3g 3 "gw forw, fraas ag A At Al
BR A 243 v W eft ar@ nfag & AU
W A arff ot 53 @A W R | ufe |
T fra = € 0
(A) 45
(B) 47
(C) 49

(D) Fruffie =i forar sn a1 2 |
MKP




30.

If a mirror is placed on the line, then
which of the answer figures is the
correct image of the given figure ?

2 YT W o U W@ I, ot & T I
Rt # & B gl & 7 sl
wadftaffRm R ?

&) (B)

n =
5 oKX=

Which symbol will be on the face
ite to the face with symbol *'?
* g =9 Tow & faudia Hereh I HE 91

fwam?

(@) D)

(-] - 4
- - - - $ - e +
A) @ B) 8
© S D) +

If mirror is placed on the line MN, then
which of the answer fi s is the

Fmien B o
# Q4 @ @ Ea Q

(A) 2ZHMADAI  (B) IADAVMHZ
(C) IAGANHS ‘(D) IAGAVHS

Arrange the following words as per the

order 1n dictionary :

rafafea H YECHY F FH +
SIERHHE |

1. Buccessor 2. Successive
3--Buecessful 4. Success.

5. Succession '

(A) 4,5,3,2,1
(C) 4’3!512,1

(B) 3,5,4,2,1
(D) 1,2,3,5,4

MKp
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36.

|
|
|
| 37.
|
|
|
|
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34.

From the given alternative words
the word which cannot be formeq
the letters of the given word : '
feu 1w wfoues w2l O H A8 I S
feu wu wrsg W FE F TAT Frp oo
AT T Fehel1

LEGALIZATION

(A) ALERT (B) GALLANT
(C) ALEGATION (D) NATAL

A man is performing yoga with his he,.
down and legs up. His face is towarg.
west, in which direction his left hand b
(A) North (B) East

(C) West (D) South

s e R Y 3R R SR &= =

F @ B | IEHT @ TEEA oI 2
g |l B fve T2

(A) STl (B) gl
(C) ufem D) EWI EE
Mark the answer as per the cod

provided below :

Assertion (A) : Clothes are not washe:
properly in hard water.

Reason (R): Hard water contains man
minerals.

(A) Both (A) and GR) are true and (R &
the correct explanation of (A).

(B) Both (A) and (R) are correctand (%
is not the correct explanation of ('

EC EA; is true but (R) 1s false.

D Anis fals%but (R) is true. o
E T aqglmmaqlﬁﬂ ‘"__

e (A) : FER A B HUS SF E
g1 I | .

%1 g TqEHT R |

B) (A)aﬂT(R)aﬁg@%am(Ru‘

1 T8 TR TE R |
(C) (A) T2, SAfFa (R)TeTd € |
(D) (A)m%,éﬁ(ma@% |

- L'l..'«

0.64-

The average of numbers
0.64203, 0.64202, 0.64201 is __——3:
& 0.64204, 0.64203, 0.6~
0.64201 T 2 i

A) 0.64202 0.64202]

C) 0.642022 Eng 0.642022

d

-



Mrs. Dixa took a taxi to mecet her three
friends for lunch. They were waiting for
her outside the restaurant when she
pulled up in the car. She was so excited
to see her friends that she left her bag in
the taxi. As the taxi pulled away, she and
her friends took notice of the license
plate number so they would be able to
identify the car when they called the taxi

company.

1: The four women seem to agree that
the plate starts out with the letter J.

2: Three of them agree that the plate
ends with 12L.

3: Three of them think that the second
letter is X, and a different three
think that the third letter is K.

The four license plate numbers below

represent what each of the four women

thinks she saw. Which one is most likely
the license plate number of the taxi ?

s feen 3 o= & fore o i wefiE
3 e & fou e ot | 9 [T % TR
IGFT TA9R L @ off S 98 R F Fhl |
TR o wefedi @ frem & fow gt
Ieated ot 7 s A dR A A B R |
3R A = ool nE, sEa v IER
el A @sEE wr q@n W en e
A 3 IR F1 Bl FHict HE T HR
TEEH HHS |
I: =T Aegend 39 a9 & GHd W &l &
o wore 1 YT ) FAECATA E |
2; I Y e wedd & fF Wi 2L %
Y EOHEA R |
3: mﬁﬁ?ﬂ?m%ﬁ@ﬂmxﬁ
3R 31=1 d g & s deu FEK R |
¥ @ 7 9 Edg @ §En gud &
fir A ufeenail 3 @ e @ G g {6
TR T T | a6 AREE ©ie §EAl
9 B ) G wEd S B ?
(A) JXK 121 (B) JYK I2L
(C) JXK 12L (D) JXX 12L

27.

28.

29.

ITin o certain code language DESERT is
coded as EGVIITU, then how is BUDGET
coded in that same code language 7

afe ot fafraa e wrm i DESERT
BGVIHTU % %9 1 Feag fem ma 2,
3} g a1 § BUDGET it %8 %244
fepan smom 2

(A) CVGKGU (B) CWIGHU

(C) CWGIGU (D) CVIGUG

Count the number of quadrilaterals in the
following figure : _
frefeafiaa amsfa A& amis &1 e i
A‘

(A) 7 (B) 8
(C) 10 (D) 12

Following question consists of a set of
three figures X, Y and Z showing a
sequence of folding of a piece of paper.
Figure Z shows the manner in which the
folded paper has been cut. Choose a
figure which most closely resembles the
unfolded form of figure Z from the four
answer figures given below.

3

x)
Answer Figures :

W‘mﬁﬁﬂf:

(A) (B)

(©) (D)

©

[
d
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(Q. No. 23 and 24): 8 persons from A to H sit
around a square table such that 2 persons sit in
the middle of each of the sides. The persons
sitting on one side of the table face the persons
sitting exactly opposite (o them on the
opposite side of table. A sits on the immediate
right of E. G faces the one who is second to
the lefi of B. 3 persons sit between A and G.
Two persons sit between F and D (when
counted from one side only), who is adjacent
to E. Only one person sits between G and C
(when counted from one side only). A is not
adjacent to F.

CEBEAN):ARHTE S 8 s @
TSR A9 3 TR AN §8 YHR 457 § 6 2 =1
TE ST A A0 W F o
el F1 98 ¥ S 9 Rt i 33 shwal
FSMRNAEFIH T3} | G wiyw 3w
TERNIRAABF TR @A TE | A
ms‘mﬂasmﬁaﬁlmﬂm%aﬂaa
a%%%%(%aa@m&ﬁﬁwﬁm,a‘m%
P2 1 G 3t C % 7o et o ey 2
gﬁﬁﬁaﬂtﬁﬁiaﬁm.mﬁ%ﬁ%qﬁ
i

23. Who among the fullm.ving sits second to
the right of the one who faces E?
(A) C (B) D
©F (D) Either C or D
?ﬂlﬁ‘rﬁm RAFHESR aix SHE hh
ST AW 9
AT (B) D
©F @) R Ccap

24. ;Igw many persons sit between E and

(A) 3 ®) 4

€ 2 (D) None of
EafkF S gy gy

(A) 3
(©) 2

|
|
I
|
8

25.

T

The school  principal has |
complaints rom parents aboy, 'LEL.]

in the school vard during e “ull

wants to investigate qpg en 26
situation as soon as Possible, 'u.ﬂ-

asked the recess aides 1o
Which situation should the
report to the principal ?

(A) A girl is sitting glumly o at
reading a book and noy intefa':
with her peers.

atch
8L
fecess ,

(B) Four girls are surrounding 4.,
girl and seem to have possm&: '
her backpack. i

(C) Two boys are playing a one.q...
game of basket ball and are are,
over the last basket scored

(D) Three boys are huddled o,
handheld video game, which i
supposed to be on school grouns

TR & TIHEH H AEEwT
et 3 o 3 vy & A
¥ R fircht & | 9§ e § T
ety i rfer i 58 o o 7
T 36 AT g A

-

@ % i e } | e R
fee FRufs <t g sy 1 AT
(A) T e e o o
2 3R 3wt & A T
qﬁm@%i s A
(B) =R Wl w afi e ©
ure & 3t Y o & 76 3
T e T feran mn @ |
(C) B % e st F
& @ § ik anhat TEC
WW@%* *a’ff“k:l
(D) % e g & werd AT
¥ R o # se@ gU
e 3 78 g =ifeT | N o

b=




>DIZQ£>

18.

19.

I (1)
ﬂ‘ In the expression
Prelatedto Q7

Select the alternative which represents
three out of the five given 1 helow figures
which when fitted into each other would l
form a complete <quak :

W fomry 71
q nﬁww mmﬂﬁﬁlmi]

m-i-e“ﬂﬁ'ﬁ' 7 1 ) |
‘?ﬂﬁl |

1 T
(D) 234
given answer figures select the
hich quesuon figure s

(A) 1.1\ (
(C) 125
From the
one in W

© (D)

%%\f

Read the following information carefully
to answer the quesuon given below :

(i) M * N means M is father of N.

(n] M - N means M is sister of N.

(iif) M~ N means M is mother of N,

M /N means M is brother of N.
Q+D*P/N, how is

(A) Grandfather ~ (B) Grandson l
)Dauphter (D) Son_ |
qﬁa fr M YA F I a“-l % fo
ﬁmf*r@ﬂmmmmﬂqaa |
()M *NF FEM, Nmﬁm%l |
()M-NF FEEM NFTR] |
(iii) M+ N A EM, N@Tﬂ?ﬂ%l l
(iv)M/NFT FERM, NT
=% Q- D *P/NF, P, QA 7R ’
|
|
7

wEfr 2 7
(A) (B) 9l
(C) (D)

20,

21,

2,

Ina town of 400 peopl

people, 183 ﬂpmk
Tamil, 165 speak I'nnuhl and 160
speak Ingligh, 40 speak both only
Enghsh and Tamil. 20" speak both only
Punjabi and [amil. 10 speak both only
Enghish and Punjabi. me many people
speak only one language ?
400 0 & v, i, mﬁﬁﬂmé
165 o) A 2, i 160 3 e
&40 et 1) 3 afeet e AR 4 |
20 e ] ﬂhafuamm'mﬁﬁ 10

S5t a0 3 T 2 e ¢ | P

A el U I AR & 7
(A) 310 (B) 201
(C) 210 (D) 301

Point B is 7 km to the west of Point A,
Point C is 12 km to the south of Point E.
Point A is 5 km to the east of Point C,
Point D is § km to the north of Point i
Point G is 6 km to the west of Point D.
Point H is 14 km to the south of Point G.
If Shubham is standing 6 km to the east
of Point H and takes 1 hour to complete
6 km distance, then in what possible
time he would reach Point E, if taken the
shortest route ?
(A) 120 minutes  (B) 180 minutes
( ) 115 mmutes (D) 159 minutes
A 3 7 fieh offem 3 2 | fag
12 fonf cfym A 2 | foE A,

ﬁi}%@%“ﬁi%lﬁgnﬁg CH

D % 6 ferrl
ufm ¥ 2 | fag H, ﬁ@G

& 14 fol
R | 3 % 6 f g

w%aﬂtﬁmaﬁ {ﬂmﬁlm
mamwwm@mw
mmmmrﬁammm*

(A) 10fme  (B) 180 B
O nshme (D) 159 Fve

Find suitable answer in place of question
mark.

TR for d €I U R T |
I6:2%::36: 7
b " B
(C) 53 (D) 46
MKP
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12. A company neceds to decide whether to

i i ' technology platform or to
g;lﬁl:g nugi? their c.\%l%g platform.
Which factor should the company consider
most when making this decision

(A) The potential benefits of the new

latform. i

(B) rl"he compatibility of the new
latform with existing systems.

(M) qhe cost of investing ‘in the new
latform.

(D) The m;cgtl;al impact on employee
productivity.

T T v & e
T e AR s R
1 I T 1 IYGNT FA1 TR W@ T
1 & A TG FH B Rrg FR
mvza%aiﬁa:

D) IEHAT T a9IEd w1y

Six books - English, Hindi, Science,
Computer

S » and Sanskrit each
contams  different number of pages.

ok contains fewer pages -

than only two books, English book
contains

more pages than Science book
but less than Sanskrit book, Science

bo OcS Nnot contain least ages.,
5l_ml_ui1 book .

contains fewer pages than -

€ book which contain
contain 28 pages,

Th
agck.rz

8) contain more pa es
Bho Pag

H )
k 7

Ilﬁ'dluwcstﬁoo
fhan Sciepe

: ¥ | w0y
7§ & ) qeam
Wi 289w § | \ '
ﬁaag-ﬁgmﬁﬂﬁmaﬁma.%
Y4
E:)ﬂu (B)
(©) ¥ (D) ¥4 A%y g

14.

15.

16.

-

In below shown
number of triangles -

:ﬁ% ﬁ‘RZJT” T e i?, f q i =+ 2101

figure, COim,

(A) 26
(C) 28

(B) 27
(D) 30

From the given answer figures seles -,
one in which question figure is embedz.:

& 7 e TRt i A 3 i ek
IrHfaafafea |

) |4

©

. . ‘3f.'
Choose the alternative which L]‘M.
resembles the water image of the &
combination.

S foreeq 1w ot o) fyg mo @A
T ofy Fam g |
GROBAP76ES
(A) CGHB8VYbiQER
(B) ousevLigea

© ©) cusgviyoes

) GEBYAL)eES




. Statement : The school has decided to

In a question given below there 15 o
statement followed by twa assumptions
numbered I and 1. An assumption s
something supposed or taken for eranted
You have to consider the statement and
assumptions and then decide whieh of the
assumption(s)  Sar  unplicn i the
statement.  You have o conuder the
statement to be U even 111t seems 1o be at
varance from the commonh known facts.

rusticate such students from the school
who 1s creating violence and not
following rules in the school.

Assumptions:

I. By rusticating students from the
school those students will never do
such things again in the future,

II. This action leads to discipline in the
school.

A) Only assumption I implicit.

) Only assumption II im[;}icit.

(8 Either assumption I or I implicit.

%ﬁ Neither assumption I nor II implicit.
& T T T A T w S AR @

o | AR 1S € | T O §58

T YRl FHUT AR

il |

&R
(A)ﬁamlmﬁﬁa%l
(B) Fae 1ron I1 3Fafied 2 |

(C) T3 umwon 1 71 11 3fafga & |
(D)qmmlﬁﬂqﬁllaﬂéﬁa%|
If in a certain code lan uaéc
EQUATION is coded as ZF RG,

then how is FORECAST coded in that
same code language ?

afe ferelt Fafea e w1 # EQUATION
F ZFJVMLRG & &9 # %78 foa it
2, @ 3t ¢ w1 § FORECAST &1
Feag o smom ?
(A) EROFTSAC
(C) EFORSATA

(B) ULIVXZHG
(D) VILUGHZX

e __ g

|
|
|
|
|
|

|
|
|
|
|
I
|

10.

11.

Fi . . :
_ n_d ”:lt. missing number in the given
“ETEs Tollowing the same pattern.

ﬂ"émﬁmﬁﬁmmﬁ

29A1, LS, FO47, S6IR, ()
(AY SOU, (B) 6NVS
(C) 50ve (D) 60U5S

Read both the statements and decide
which of the following answer choice
correctly  depicts the relationship
between these two statements :
Statements :

I. The car manufacturing companies
have recently increased the prices
of mid-sized cars.

II. The Government recently increased
the duty on mid-sized cars.

(A) Statement [ is the cause and
statement 11 is its effect.

(B) Statement II is the cause and
statement I is its effect.

(C) Both the statements I and II are
independent causes.

(D) Both the statements I and 1I are
effects of independent causes.

T F 0 IR T i Fefied

T | BH 91 IW fawey 7 3 w0 5

IS HeY =1 98 & | quiar @ ;

Ty

I ¥R fmin $frai 3 g @ § wem
ITER R F R AT G R

II. ¥R 3 g @ o Jem e H
I T Yo TG 2 |

(A) gmnméaﬁtmmuwm

|

(B) _?muw%aﬂ:mmmm

I
(C) e | 3k 11 g} T o |

(D) Fu | 3R 1l A Tax SRy ¥
wvra |

MKP



While i i
mmm;'a"';’"'ng_ in a Haryana registered
e ial taxi from Haryana to an
ljacent city (another State), your taxi
gnvcr m?"orms you that as he has no permit
or running the taxi in that city, he will
stop at its Transport Office and pay the
pms:c:n'bcd fee of T 50 for a day. While
paying the fee at the counter you find that
the transport clerk is taking an extra T 50
being given. You

for which no receipt is
office meeting. Under

are in a hurry for an

such circumstances, what would you do ?

ot interfere at all as this is a
and the

(A) Do n
matter between the taxi driver
tax authorities.
of the incident and
to the

@B) Take note
inform the matter

subsequently
concermned authoriti€s.

(C) Goupto the counter an
to give back the money

illegally taken. -
(D) Treat it as a normal affair and simply
forget about it.

-c}sﬁ??"?raﬂaﬂTﬁﬁ;_
@@Wﬁwa:%gﬁ;

d ask the clerk
which he has

=Tmu®
Xy e wra
b m_mv‘mmﬁ M gEH AN

m

N

You are a Professor in a Un,,
are sctting an examination Vergy,
particular  subject.  One Paper” ;
colleagues, whose daughter i\'”
for the examination on lh'npf':r:--
comes to you and informs y(-,‘u ooy
his daughter’s last chance to Pl }
examination and whether vou chs B
him by indicating what " question. - F
going fo be asked in the examinati,.
the past, your colleague had hcipélcf". !
matter. Your colje-

in another
informs you that his daughter will g
from depression if she fails in ¢
examination. Under such circumstar::
what would you do ? '
i f the help he had g

the conduct of
the higher authoritics

ur colleague thatt
trust of o
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Soham has invited his three friends over
10 watch the football game on his wide=
screen television. They are all hungry,
but no one wants 10 leave to pet foad.
By the time they are arguing about
who should order the food, a
commercial comes on the television
screen for a local pizzena that delivers
izzas at home. The [lwhom number

Fhsheq on the screen brietly and thev all

try to remember it. By the time Soham

grabs a pen and paper, cach of them
recollects a different number.

#1: All of the men agree that the first
two numbers are 67.

# 2: Three agree that the third number is 2.

£ 3: Three of them agree that the fourth
number is 4.

#4: Three agree that the fifth number is

ater than fourth number but less
an sixth number.

#35:Three agree that the sixth number is
6; three others also agrec that the
seventh number is 8.

Which of the numbers is most likely the

telephone number of the pizzeria ?

%A) 6726548

B) 6724568

C) 6724758

&D} Insufficient Data

FTEH = 3174 A S 1 3T T8 ThiH e

R FeAA F EA G81

FfEn fman e |3 mf uw E, SR E

01 % fere a 78 = e | fom 5

3 79 91 W =78 F T 71 ¢ (6 15 @

TFIET—IT '?ITTB'Q 34 999 T

T To 2101 BT T TS TS ST B W

W = TEET 2 | B WS A6 9 o

% {0 =mwm 2 3R g 71 38 I = 6

FI9 FA £ | WE 7 HEA_Fed 3

FITA THEAl 7, ITH A TG 1 Th 3o

A ATE AT R |

#1:9 T4 TE =1 § FEAd & 1 el
2 EEAN 67 F |

#2: 47 T £ 1 Fﬁ'aﬁ A 2 B 1

#3:398 A 414 39 @19 # HeHA &
qETAE |

#4:7 Tewa T wiwd] den = aen

AR, AFA DI HATRFAR |

#5090 wpwa 2 {6 wd @Em 6 v A

7= ¥fi g ¢ fop amaeli TEIR R |

511 { H a1 T (Tl 1 Zeee T

71 o) wad e FIEATE 2

(A) 6726548 (B) 6724568

(C) 6724758 (D) A

|
|
|
I
= |
|
|
|
|
|
|
|
3

Mahesh is working with a friend to find
@ loeation for the toy store he plans to
“["-'1 in his town. He is looking for a
place that 15 cither in, or not too far
from the center of town and one that
would attract the right kind of foot
traffic. Which of the following locations
should  Mahesh's friend call to  his
attention ?

(A) A storefront in a new high-rise
building near the train station in the
center of town whose occupants are
mainly young, childless
professionals “'who use the train to
commute to their offices each day.

(B) A little shop thrcf: blocks away
from the town's main street,
located across the street from an
elementary school and next door to
an ice cream store.

(C) A stand-alone storefront on a quiet
residential street ten blocks away
from the town's center.

(D) A storefront in a small strip mall
located on the outskirts of town that
is also occupied by a pharmacy and
a dry cleaner.

TR U 1A o H1Y HH T § A T

3:|‘5|=1 wEr " fgam &1 E-:nlq e

T 991 HF |331{$U"H]?‘T5$1 GISIED

5 & < A v F S 6 A I a5

QA E 3 = v F e At

TR F | fafalea 1§ fae =A@

TR 3 T W IEE A ATENG S

=1z ?

(A) el F g '-q ET-[ IA &+ TH Uﬁ Ts
3 g B UF HgF @l AN W
el ghiA 1%). [ELERES ?ﬂﬂ
e w9 A g, FaaE e S
e feA 3T wrferl § A & fere
24 1 ITUM A B |

(B) ITeT 61 HE Hgh { 1A & g T
o1l H g, v e faarer 3
HEF *m g i Ue MIEHsHIY <)
I o A H feem 2 |

(C) 9Bt & @z 8 26 «dld gL G E’TI?I
WA Asd W UE RE-EH
RIS |

(D) e % arll @ 14 fm o e
frey wiel O U R Fray v e
1 gehT 3T g8 Al 1 i e R |
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" Section-A / M-
e R @
. Choose the alternat : ninl Abllity
‘ wose he @ ermative which closely 3, The ,
resembles the water 1mage of th scly ' ie film director wants
combination. ¢ given role of A s an actor for the oy
e descrints Lucky who perfectly € lead
S e 1 < For 0 e desripion . appea™ oty s, e
ﬁﬂfa%ﬂm%l : mrn&ﬁg.dHc is not willing to C‘OT]%?.?;;I.
BKE’URPBZ he is dc':(:rib(i‘({]?{l] uﬁ;scgﬁéc thc Chmwju'r‘f‘
o &8 ' =\
) BAROHBOS (B) BRSOULET s e Py ¢ sronple
(C) BK QUHPQS (D) BK20KbE8S mmeﬂﬁna:lrlgdﬁeﬁ] m\t_?}:’egage—smcd. e
s In the question helow are given three very fair skin, and a"jbrillfgnpthrm-‘“ eyes,
clatements mﬂrnwed by three conclusions | casting agent has four actors In nﬂ;“&'llc, [he
| snd [l You have 10 take the siven Actor 1 : is g suming red-hair
@tcmems 10 be true even if they seem 10 handsome who is 59" and in his I;ll’gd
be at vanance from commnn?}f known pwenties age. His eyes are brown and
facts. Read all the conclusions and then he has an olive complexion.
dL‘C_ldﬁ which of the given conclusions Actor 2: has red hair, deep hrown eyes
o_gxcaﬂy follows the given Satements, and a fair com lexion. He is in his
dlﬂ'egﬁrdlﬂgtﬂmmcmlv known facts. mid-forties and 19 55",
Statements ° All schools are colleges: Actor 3 : is 5 and of medium build.
ome unw_ersities are institutions He has red hair, brown €Y€ and is
X school is university: Lethr his early f0r°% _
Coneuston : et early hivtes. b gt
colleges are gniversities is not -  He's of very 2=
?:)ssibilitgy. mhu!ld ﬂﬂ%ﬂgk at T
~ No college i university is not @ ‘ZEI&EH; = T LT 3
Eessibﬂity. i e K %@w 3 fou &
. Some institutions are not schools 18 e faa o qft 7@ ygadl | BT
not a ;]mssibil'ty, R EERICIER
Only and 11 follows
Only il follows.
C) Only {1l follows
Only | and 11l follows,
ERARIL R e 7 €6 A
s 1, 1 301 frm | T
ol Hﬁﬁ_{#ﬂ%ﬂaﬁlﬂqﬁﬂﬁ
e AT A € | aoft 3 3 R
qq w1 o, Fh 43 @R a A
i A S L F o o
AfEmEIH A |
e T 7 e B | gfrafid
e & 1%:@61:@'}3& T
Frad - .
|, Wi w g, TE
s T4
T il @ B T
et 7 R |
T R R £, 76 T BT
VAR A

Ly :‘-l.'rj'all - a -
ji e SR U SRR wA d |
1 agie ’“&“"—"’d"l"
A0 S e 1 "“t'l
iy 1) h_‘“‘:\ltﬁ:-iqﬂﬂ .fr,“ ‘ .l
A Yy R R R (L) win B\

- . = Lo -




